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intge] M& SZt= SE2E 2HG)I|
(malloc.c)

—

#include <stdio.h> 21
#include <stdlib.h> A 4f *pi = -1249227952, N& 2t p = 3

t ma ¥ _
" Irr?taicr[;(lvcz)l |\)|L3|_|_, /[D'”EEl %H:I' °|:|I'—J|\— mf”OC()g}
pi = (int *)malloc(sizeof(int)); 2
if (pi == NULL) {
printf("0| 22| &0l =7t UELICE";
exit(1); SHU Dl ¥ 4T ZA
b \[ ]

*pi = 3;
printf("=4 &L *pi = %d, M @ p = %d#n", pi, *pi);
free(pi);«<— ojza| six|

return O;




#define _CRT_SECURE_NO_WARNINGS | [Z4 1]
#include <stdio.h> Oledst Ma0| Jj4=& Q& 55 3
#include <stdlib.h> 370e| M eH > 3
int main(void) { 5
iIntn =0, sum = 0; 1
int *ary = NULL; Qe M= 35 1
printf" Y 9| /=5 YH >>| 9 HFZ: 3.0

scanf("%d", &n); HES SHo 2 &Y
if ((ary = (int *)malloc(sizeof(int)*n)) == NULL) {<—| _, "Mz HAH J
orintf("Hl 22| SHEHol| 2|7t ASLICEY: exit(1); T

for (inti =01 <n;i++){

printf("%d 7l 2] H+ &= >> ", n),/[ HE 3oz =X oty J
scanf("%d", (ary + i));

sum += *(ary + i); //sum += ary[i]; 'nt§ I:l“‘%l x'|§ -g—.’_i
) p i
printf("& & H== "), = %EEE g||'EQI'7|
for (inti=0;i < n;i++) (arraymalloc.c)
printf("%d ", *(ary + 1));
printf("Wn");
printf("&: %d "t %.1fWn", sum, (double)sum / n);
free(ary);
return O;
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022 =7|31El S5 =6

(calloc.c)

#include <stdio.h>
#include <stdlib.h>
void myprintf(int *ary, int n);

int main(void) {
int *ary = NULL;
if ((ary = (int *)calloc(3, sizeof(int))) = NULL) {
printf(("H| 22| &=0| EX7t }U& | CHn"); exit(EXIT_FAILURE); }
myprintf(ary, 3);

free(ary); calloc)e 25 7|= ol o | | [EL]
myprintf(ary, 3); o2 X738 & ary[0] = 0O

ary[11 = 0

return O;
) \{ H 22 siX| O|=0|E= ary[2] = 0
D= MP7| gt £ ary[0] = -572662307
void myprintf(int *ary, int n) { ary[1] = -572662307
for (inti =0;1 < n; ++) ary[2] = -572662307

J

y -

7

printf("ary[%d] = %d¥#n", i, *(ary + i));
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ojo] SE H22|=E HE &2Salv|

(realloc.c)

#include <stdio.h>
#include <stdlib.h>
void myprintf(int *ary, int n) {
for (inti =0;1 <n;i++)
printf("ary[%d] = %d ", i, *(ary + 1));
printf("Wn");
} 3= 7|2 Ul 0=,
int main(void) { { OFAHE SfLt= CHE J
Int *reary, *cary;
if ((cary = (int *)calloc(3, sizeof(int))) == NULL) {
printf("H 22| & 0| =X 7} ASLICrwn"); exit(EXIT_FAILURE); }
if ((reary = (int *)realloc(cary, 4 * sizeof(int))) == NULL) {
printf("H 22| & 0| EX7F USLICEwn"); exit(EXIT_FAILURE); }
myprintf(reary, 4);

free(reary);
return O;y [22]
} ary[0] = 0 ary[1] = O ary[2] = O ary[3] = -842150451
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X218 = 2 =M (self reference struct)

& XI7|&=E 2XZA(self reference struct)gl
o XX HH{Z X}7| XjAIQI REH| EOIEIE = A
o XI7| XA HHE JIX|= U2 B
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struct selfref {
int n;
struct selfref *next;
struct-selref-data:

3




IV [EETZANE 0|3t HHEZ|AE 7=
(selfrefstruct.c 1/2)

#include <stdio.h>
#include <stdlib.h>
struct selfref {

int n; [ INPARS 5| ]
struct selfref *next;
//struct selfref one; /ALY @F ZH
g [ 1H
T+ ZH A7|= 16
AR ?XHI A2 9| A Zk(first) = 1826312704
Xt= 4t (first->n) = 100
Xt= 4t (first->next) = 1826354416
Xt= 4t (first->next->n) = 200
= HR :erxﬂ A2 9| FAZk(second) = 1826354416
Xt=E 4t (second->n) = 200
Xt=Zf(second->next) = 0




int main(void) { [ o iﬂﬂé struct selfref& otLf J
typedef struct selfref list; O XAEHQl list 2= T2

list *first = NULL, *second = NULL; (@ 2|AE0| ZaA|Z 27} @%%]
first = (list *)malloc(sizeof(list)); ShChHET|

second = (list *)malloc(sizeof(list));

first->n = 100;

first->next = NULL; [® 2710 XM O| HEHE *x7|S} ]

second->n = 200;
second->next = NULL;
first->next = second: first7t Ct2 T+ XH Q! secondE 7t2|7| A &.
printf(" 22X 2 7[= %dWn¥n", sizeof(list));

printf("X HR LK. "),

printf{("WAF= 2| =4S (first) = %utn", first);
printf("WtXF 2 2L (first->n) = %dWn", first->n);
printf("WtAFE 4t (first->next) = %un", first->next);
printf("WtAF = 4f (first->next->n) = %d¥nWwn", first->next->n);
printf("5& HR{ FLZK: ");

printf{("WAI = 2| F=A4f(second) = %uWn", second);
printf{("WtAr = 4f(second->n) = %d¥n", second->n);
printf("WtAF = 4f(second->next) = %uWn", second->next);
free(first);  free(second); 2 = =

ol =mm B umum B B [r— o B Bl
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& LC= 23|(node traversal)
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® object file2 X&t|0] AlsHne!(+.exe)0] E
¢ ALEX A2l & o
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2

€ Visual studio project “LinkedList” &= tdi.

[Z 1t
O|E2 YUESIL Enterg FEMNLR. >>
jychoi
THR === jychoi
gdhing
TR =E = jychoi
2HR === gdhing
Jkkim
THR] = E = jychoi
2HR = E+ gdhing
3R L E= jkkim




AAUB|AE PH
(linkedlist.h 1/5)

//scanf(), gets() & LFE YR[St7| {ot &= O
#define CRT_SECURE_NO_WARNINGS

#include <stdio.h>

#include <stdlib.h>

#include <string.h>

struct linked_list {
- INARS E PNy < (s ge]
char *name; ./[ | A | ]

struct linked _list *next;

};

( 1=K E NODE EtQ! )

typedef struct linked list NODE; oz M=o
)
NODE *& LINKZ X
typedef NODE * LINK; x4 o H

LINK createNode(char *name);
LINK append(LINK head, LINK cur);
int printList(LINK head);

void freeList(LINK head);




&=

HUB|AE 8
(listlib.c ==& MMsl= &=+ 2/5)

#include "linkedlist.n" malloc)C 2 &=l M2 2| l
LINK createNode(char *name) { _Al FAE ZOH curd ME
LINK cur;

cur = (LINK) malloc(sizeof(NODE));
if (cur == NULL) {

printf("= = d-d= flct 22| 2o M7 /5L CE#n");
return NULL; [ name QIXtO| LIRS XEHS —E—XrHH%J

A = &8 &5t name =0 A&

cur->name = (char *)malloc(sizeof(char) * (strlen(name) + 1));
strcpy(cur->name, name);

}

cur->next = NULL;

return cur: A4 22 K20 & Ado|l=2
} 2 next 242 NULLE d}7].
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Ha|AE
(listlib.c ==& $7I'8I— &=+ 3/5)

LINK append(LINK head, LINK cur) { [ cizig|AE 232 9s) x| B |
LINK nextNode = head; <« | nextNodeZ M AL headZE =735}

if (head == NULL) { ( o blois Mo ]
head = cur; 7 A=
return head: L F/folt= =E7t head”/t &

}

while (nextNode->next != NULL) { nextNodeZ} OFX[S} & E%AEEI]
nextNode = nextNode->next; 7|A & WK 2| ~EE &3

}

Tt LEE WX =E9
nextNode->next = cur; k[T neXtEOH ISP ]

return head;




g2

gas|a

(listlib.c & 2|2E2

E 78

2EQ| BE £ E &5 g 4/5)

int printList(LINK head) {

intcnt = 0; /=2 LEO| =&

LINK nextNode = head;

SES)
nextNodeE O| &5 AHZ2
XNESE2H 7K =3

| AE O] J

while (nextNode !'= NULL) { [
printf("%3dH A === %s#n
nextNode = nextNode->next;

}

", ++cnt, nextNode->name);

d= =

Ht

= )

//5 =&
return cnt;

=
=

s

A
T

void freeList(LINK head) {
LINK savenext = NULL;
while (head !'= NULL) {
savenext = head->next;
free(head->name);
free(head);
head = savenext;
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HUZ|AE 78
(linkedlist.c main&s 5/5)

#include "linkedlist.n"

int main(void) {

char name[30];

LINK head = NULL;

LINK cur; HEE Qoo gy |

printf("O| & ojo'/z—q./{h_—' EnterE FE2M 2. >> #n");

gets(name); =X SICHS CZ2 of C

while (strlen(name) > 0) { L= 2o =5 W Fo =
cur = createNode(hame); // == & &'
if (cur == NULL) {

}

printf("%’gl ol 22| o =X 7t

USLICEWN"); exit(1);

head = append(head, cur);

printList(head);
gets(name);

}

freeList(head);

return O;




